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f) S (L {L.side = before—point ; L,.side= after_point;
S.val = Li.val 4 Ly.val 5}
S=pll. {L.side-_-beFore_poin'!-;
S.val = Lyal; §
S {Ll.side =Ll.side Lien=L,den41;
it (L.side=="b_p') Loval=L,.val ¥ 2 4 Bovali}
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— concatenation
E-,E4+T [Et=E.L|TE|Y]
| T { Et =Tt}
Ty T B I Tf =T b Fob et §
- b= Eubl
E o {E) [F.t =E.t}
| digit {F.t = digitilexeme]

L0 )
E.t="123%4"'
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(M PRODUCTION SEMANTIC RUuLES -
based-num _s num base-char based-num.val = num . yval
num . base = base-char.base
base-char _y o base-char.base = 3
base-char — d base-char.base = 10
num, — Nnum, digit num, .val =
if (num, val == error|| digit.val == error)
then error
glse num, val 3 num,.base 4+ digit.val
num,.base = num, base
digit.base = num,.base
nuUMmM —> digit num.val = digit.val
digit.base — num.base
digit - 8 digit.val = ®
digit — 1 digit.val =1
digit -3 digit.val = if (digit.base ==38) then error else §
digit —5:9 digit.val = if (digit base ==3) then error else 9
wval=1%83
(v) 1230 based-num
Ay Vol = I0RE43 =93 buse-c'nur:b“eza
-base =8
m .Jr.vnl =3
num .pose =8 dngt base =8 o
wval=1 L eval=2 '
inal +
n"i -base=3 dT‘ -base = =
digit "vel=1 2



+ nid ' - - ) / ! o= s N
J-—J"«U-ﬁ—cj (base) {-1; sasa LU"; 3l wld (£ --:/J!A;FI{} -7 ()

3 . B = J / k: * -
N b ,uur{' _é_,lf- ,:—Jufu.q_s-‘,..l:;lm )

void EvaluateNumber (AST N)
1f(N isa based-number node)
{ EvaluateNumber (right child of N);
Assign base of right child of N +o base of left child of N
Evaluate Number(left child of N);
Assign value of Ieft child of N+o N.val
Ie{se i (N is @ num node)
{ Assign N.base to base of lef+ child of N
EvaluateNumber (lef+ child of N) 3
W (right chid of N exists) /x nrum —5 num digit %/
( Assign N.base Ho base of right child of Nj
Evaluate Number (right child of N);
i (values of both let+ and right children of N are not error)

N.val = (value of left child of N) x N.base 4 (value of right child of N)
else

error

}

else /x num 5 digit %/
N.val = value of left child



